Harrisdale Senior High School



ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "94HT" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be dispatched for \$5.00 no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 15th December 2023.

Orders placed after the 15th December will incur a fee of \$8.00. Please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR SEVEN					
	GENERAL STATIONERY - REQUIREMENTS ALL SUBJECTS PLEASE SELECT OPTION A OR INDIVIDUAL ITEMS IN OPTION B					
P76900	Option A Secondary Stationery Pack COMPLETE SECONDARY STATIONERY PACK WITH REDUCED PRICING	1	Ш	1	64.00	64.00
	Retail Price: \$75.00 Cost Saving: \$11.00 Resource List Special Price: \$64.00 OR Option B SELECT INDIVIDUAL ITEMS AS REQUIRED					
P55110	Binder A4 2D Ring 25mm PE Black	2	Ц	1	5.35	5.35
P55442	Display Book A4 20 Pocket Black Refillable	3	\Box	1	2.15	2.15
P55449	Display Book A4 20 Pocket Red Refillable	4	Ш	1	2.15	2.15
P50281	Document Envelope A4 PP With Press Stud Clear	5	\Box	1	1.25	1.25
P50694	Document Envelope A4 PP With Press Stud Red	6	Ш	1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	7	Ш	2	0.40	0.80
P55546	Exercise Book A4 64 Page 8mm	8	Ш	4	1.30	5.20
P55551	Exercise Book A4 96 Page 8mm	9	Ш	2	1.65	3.30
P51353	Glue Stick 40gm Artline Purple	10	Ш	1	2.75	2.75
P51157	Highlighters Pkt 4 Micador ECO	11	Ш	1	3.50	3.50
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	12	Ш	1	3.80	3.80
P50113	Markers Faber Project Wallet 12 Assorted	13	Ш	1	3.45	3.45
P56213	Pencil Case 340x170mm Name Large	14	Ш	1	3.40	3.40
P50006	Pencil (HB) Micador Essential	15	Ц	3	0.35	1.05
P52001	Pencil (2B) Goldfaber	16	Ш	2	0.65	1.30
P56094	Pen Ballpoint Cap Type Black Medium	17	Ш	2	0.35	0.70
P56095	Pen Ballpoint Cap Type Blue Medium	18	Ш	4	0.35	
P56096	Pen Ballpoint Cap Type Red Medium	19	Ш	4	0.35	
P56329	Pocket Plastic A4 11 Hole Box 100	20	Ш	1	7.10	7.10
P56252	Pencils-Coloured 12's Colourush	21	Ш	1	4.50	4.50
P56414	Ruler 300mm Plastic Clear	22	Ш	1	0.75	
P50161	Scissors 170mm Maped Plastic Handle	23	\Box	1	2.30	2.30
P56242	Sharpener Pencil Barrel Double Hole (EL)	24		1	2.10	
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	25		1	14.05	14.05
	PERSONAL ITEMS LIST					
	THE ITEMS BELOW ARE NOT IN THE STATIONERY PACK. PLE		SELECT A	AS REQUIF	RED	
P52000	Calculator Casio Scientific FX-82AU Plus II 2E (Required for Mathematics and Science)	26		1	41.95	41.95
P55343	Compass Micador Self-Centering 140mm Safety #325	27	Ш	1	1.25	1.25
P50132	Headphones Volume Limiting Kids	28		1	20.50	20.50
	(Or an alternative headphone may be purchased)	-	_			
P51609	Magnetic Whiteboard 21 x 29cm (double sided with marker)	29	Ш	1	9.50	9.50
P56081	Marker Artline #200 Black 0.4mm	30		2	3.80	7.60

Page 2

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P56082	Marker Artline #200 Blue 0.4mm	31	∟ I	2	3.80	7.60
P56083	Marker Artline #200 Red 0.4mm	32		2	3.80	7.60
P52558	Notes Stick On 20mm x 50mm Page Marker Transparent	33		1	13.95	13.95
P52399	Scissors 165mm Left Handed Green	34		1	2.70	2.70
P52611	Stapler 26/6 24/6 Mini Blue (Rapid)	35	\Box	1	6.10	6.10
P56708	Whiteboard Markers Connector Wallet 4 Assorted	36	\Box	1	9.15	9.15
	ENGLISH					
	Inc. Focus, Extension, and GAT.					
P55446	Display Book A4 20 Pocket Green Refillable	37		1	2.15	2.15
P50281	Document Envelope A4 PP With Press Stud Clear	38	Ш	1	1.25	1.25
P55546	Exercise Book A4 64 Page 8mm	39		1	1.30	1.30
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	40	Ш	1	3.80	3.80
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	41	Ш	1	14.05	14.05
P11510	English Essentials AC Workbook 1 [Sadler]	42	Ш	1	32.50	32.50
P09220	Excel NAPLAN-style Literacy Tests 7 [Puiu]	43		1	20.95	20.95
	HUMANITIES & SOCIAL STUDIES					
	Inc. Focus, Extension, and GAT.					
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	44		1	2.30	2.30
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	45		1	2.15	2.15
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	46		1	3.80	3.80
	MATHEMATICS					
	Inc. Focus, Extension, and GAT.					
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	47		1	2.15	2.15
P54143	Graph Book A4 96 Page 5mm Spirax #131	48		1	2.00	2.00
	SCIENCE					
	Inc. Focus, Extension, and GAT.					
P50694	Document Envelope A4 PP With Press Stud Red	49	Ц	1	1.25	1.25
P55551	Exercise Book A4 96 Page 8mm	50		1	1.65	1.65
D===10	HEALTH EDUCATION					
P55546	Exercise Book A4 64 Page 8mm	51		2	1.30	2.60
	PHYSICAL EDUCATION					
	Lower school Physical Education uniform required.					
	DANCE					
	Contemporary shoe/half socket (optional) - To be retained for future year Students who do not wish to dance barefoot are required to wear a contemporary shoe.		nce shoe/ ha	If socket which	ch can be p	ourchased
	via the below links or at other dance store locations. Pivot 360 Tech Fit (energetiks.com.au) ENERGETIKS BSP01 PIVOT 360 Leather Half Shoe – OBSESSIONS DANCE	WEAR	& ACCESS	ORIES (obse	essions-da	ncewear-
	costumes-acc.myshopify.com) Canvas Hanami Pirouette Spins with Ease Capezio®			0.1.12		
	Bloch Micro Suede Vantage Dance Shoes – Aspire Dance Collections Bloch - Eclipse Canvas (S0619) – Aspire Dance Collections Capezio - Hanami Pirouette Dance Shoes Aspire Dance Collections					
	DIGITAL TECHNOLOGY					
	Parents to Supply: 1 x Wireless Mouse (RECOMMENDED - NOT COMPUL	SORY)			
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	52		1	14.05	14.05
	DRAMA					

No stationery/resources required.

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
D50000	FRENCH					
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	53	Ļ	1	2.15	2.15
P51080	Exercise Book A5 64 Page 8mm	54	Ц	1	2.10	2.10
F50699	(To be retained for Year 8) Harrisdale SHS Language Perfect Subscription French Year 7	55	1.1	1	23.50	23.50
1 00000	Please pay Campion. Access will be provided in class.	33		'	23.30	25.50
	FOOD TECHNOLOGY					
P55546	Exercise Book A4 64 Page 8mm	56	\Box	1	1.30	1.30
	JAPANESE					
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	57		1	2.15	2.15
P51080	Exercise Book A5 64 Page 8mm	58	Ц	1	2.10	2.10
550700	(To be retained for Year 8)					
F50700	Harrisdale SHS Language Perfect Subscription Japanese Year 7 Please pay Campion. Access will be provided in class.	59	Ц	1	23.50	23.50
	MEDIA					
P52522	Headphones with Microphone HIFI Kensington single 3.5mm jack	60	1 1	1	30.95	30.95
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	61		1	14.05	14.05
	Items are to be retained and reused for Y8 Media.		_			
	MUSIC					
	Only purchase if placement has been confirmed.					
	Students will also require the Music Performance uniform.					
P55481	Document Wallet FC Polydoc Blue	62	ᆜ	1	2.50	2.50
P52497	Earphones Earbuds Kids	63	Ц	1	10.70	10.70
P50444	(Any brand - available at most department, electronic or office suppl Music Book A4 96 Page Ruled & Staved Spirax 244	y stores) 64	1.1	1	2.55	2.55
P01696	Master Your Theory Grade 1 (Revised edn) [Dulcie Holland]	65		1	19.95	19.95
	(To be retained for Year 8)	00	_	·	10.00	10.00
	METALWORK					
	No stationery/resources required.					
	VISUAL ART					
P50055	Art Folder A3 Heavy Duty Board	66	\Box	1	8.50	8.50
P55515	Eraser Artist Kneadable	67	\Box	1	2.55	2.55
P55522	Eraser Plastic Pencil Economy in sleeve	68		1	0.70	0.70
P52487	Paper Stumps Derwent Set pkt 3	69	\sqcup	1	12.60	12.60
P50271	Pencil (HB) Goldfaber	70	Ц	1	0.65	0.65
P56176	Pencil (2B) Copperplate	71	Ц	2	0.55	1.10
P52013	Pencil (4B) Goldfaber	72	Ļ	1	0.65	0.65
P52014	Pencil (6B) Goldfaber	73		1	0.65	0.65
	WOODWORK No stationery/resources required					

No stationery/resources required.

Please tick the items required in the box provided

(PRICES CORRECT AT 10/11/23)

Ŋ Item

Reqd

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked: Postage (Home delivery only) \$5.00 **ESTIMATED AMOUNT DUE** <u>\$</u>

Office Use

Description